Math 114 Fall 2005 BONUS Quiz 5
SHOW ALL YOUR WORK

Given the function fi{z) = Eﬁ

a) {4 points.) Find the function g which is the inverse of f{x)
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b} (I point.) Find the number a which solves the equation f(a) = 2. (Please, no decimal points!)

f@=2 & ffa)= £

£ i) .
o = g2) A =4]

¢) {1 point.) Find the number b which solves the equation g(b) = 0. (Please, no decimal points!)
o [ -
9 5~(0):1€(o):ﬁ < el b]

d) (2 points.) Compute g'(2) directly from the derivative of g. (Please, no decimal points!)
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e) (2 points.) Find f'{a) where a is the solution of f{a) = 2 from part b. [HINT: It is probably easier
for you to use your answer to part (d) than differentiating f(xz) abd evaluating at a.]
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